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&5 AH #B3E FF 2 fintE TR (m) R
1 1A 4H =2F8 =27/ 4.40 BRMIT
2 1A4H EFE =2 4.90 BARIT
3 1A5H EFE SN2 6.25 BARIT
4 1A 118 EiRE =2 5.00 BRARIT
5 1148 FIFE =2 5.60 BARIT
6 1A 15H ELE =Y 5.00 BRMIT
7 1A 16 H sk el ) il oy 13.00 »IFT=
8 1A 16 H sk el ) il oy 13.00 *IFT=
9 1A17H F2f R =Y 5.25 BRMIT
10 1B 18 H HIGE =2 6.00 BART
11 1A 19H FHRE =2y 5.40 BARIT
12 1A22H B E =2 6.00 BART
13 1R 228 ELE =2 4.70 BART
14 1A 22H eI =27 5.70 BRMIT
15 1A 23H ifmy= =27/ 4.30 BRMIT
16 1A 23H =EHEE =27/ 5.10 BRMIT
17 1A 26H =2F8 =27 6.50 BRMIT
18 1B 26H FIGE =2 5.00 BART
19 1A278 S8 =2 3.00 BART
20 1A 29H EHE =27/ 5.00 BARIT
21 1A29H EiEFR S/ 5.00 BARIT
22 1H29H sk el ) il oy 5.00 »kIFT=
23 1A 30 H =EHEE =27/ 5.20 BRMIT
24 1A 30H EHRE =52 5.00 BRMIT
25 2A7H RIGE =27 5.00 BRMIT
26 2811 H =E8 =2 5.30 BART
27 2811 H FERLE SN2 6.00 BARIT
28 283 15H RIGE YD 8.50 BARIT
29 28 15H =EHEE FHR 7.84 BEA]
30 2A18H RIGE =27/ 7.00 BRMIT
31 2A29H AINE =27/ 4.20 BRMIT
32 3A4H EWE SN2 5.00 BRMIT
33 3A5H sk el 13.00 HIF 1=
34 3A5H sk el 5.00 HIF 1=
35 3A7TH =B 5.90 BRART
36 3A8H RIGE 3.90 BART




=1 BH #BE T IR AR (m) AL FE

37 315 H ERER =%y 4.55 BARIT
38 3A17H ifmy=} =27/ 410 BRMIT
39 3A19H EWE =27/ 3.50 BRMIT
40 38218 =1 SN2 6.00 BART
41 3821 H =E8 =2 5.60 BART
42 38248 ERE SN2 4.80 BART
43 3831 H fBHE =27/ 5.20 BRMIT
44 4A82H RIGE =502 6.00 BRMIT
45 485H mmENNE SN2 6.00 BARIT
46 4 A 8H ng SN2 4.30 BART
47 48 16H dtimE =27 455 BRMIT
48 4 A 18 H SR =27/ 5.00 BRMIT
49 4820H SHIE ~HH I~HH HEA LT
50 4 826 H RiIG&E =2 4.70 BRARIT
51 4 8 28H FEE =%y 3.50 BARIT
52 583H RIGE =52 5.20 BRMIT
53 585H RIGE =52 4.70 BRMIT
54 5814 H dtimE =27 7.05 BRMIT
55 5H 23 H EFE =%y 4.80 BARIT
56 6 578 5EFER =2 5.20 BRARIT
57 6 A13H =2F8] =27/ 38 BRMIT
58 6 5178 BEREE =52 4.67 BRMIT
59 6 H20H HRE =%y 8.00 B (F1=

60 6 5228 dtiEE =2 5.90 BRARIT
61 7838 RIGE =2 5.00 BRARIT
62 78 8H =3 =27/ 4.40 BRMIT
63 78 8H =3 =27/ 450 BRMIT
64 7813 H ELE =2y 4.70 BARIT
65 7816 H dbiEE =2 4.70 BARIT
66 78208 dtiEE =2 5.29 BART
67 78 25H BFEHE =52 4.90 BRMIT
68 8H1H =2FR FTHR 105 BRMIT
69 8 A 3H EWLER SN2 4.70 BARIT
70 8 18H BIIE SN2 4.80 BRARIT
71 10 A3 H =2F8] =27 5.00 BRMIT
72 10829 H FER il 9.00 AN

73 11 A9H aIE =27 4.85 BRMIT
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74 11 B218 EHE =2 5.70 BARIT
75 11 A 26 H ERE S/ 5.70 BARIT
76 11 A 26 H SRE FTHR I~ER 2T

77 11 A 27 H =R SN2 4.40 BRAR T
78 11 A 28 H EFE FTHR 11.00 BRAR T
79 12A3H =y g =2 5.00 BRAR T
80 12838 RIGE =2 4.00 BRAR T
81 12A5H LiEE =2 5.20 BRAR T
82 12A5H EFE =2 4.50 BRAR T
83 1278 rEINTE N IR HEHLT=
84 12A9H BEHE SN2 5.40 BRAR T
85 12 A 10 H EFE —A&1) 7.90 BRARIT
86 12 A 15 H AR SN2 4.35 BRAR T
87 12 A 16 H HRE SN2 4.60 BRAR T
88 12 817 H ELE =S/ 5.00 BAR T
89 12 A 18 H EHE =2 6.25 BAR T
90 12 519 H BINE =S/ 4.00 BAR T
91 12 20 H =2FE =2 4.90 BAR T
92 12821 H dbimE =S/ 6.10 BAR T
93 12 A 22 H I m=} =S/ 5.40 BAR T
94 12 A 23 H FoFRLE Hh TEH AT
95 12 A 24 H BINE =2 3.60 BAR T




